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Addition  
Vocabulary:

add

more

plus

increase

sum

total

altogether

double

more than

equals

inverse

Plus means the same as add.

So, we can say 8 plus 7, means the same as 
8 add 7, or even 8 + 7.

The answer equals 15!

15 is 7 more than 8. This means that I have 
to count on 7 from the number 8, and I’ll 
get the answer 15.

Addition is commutative: this means the answer is the 
same whichever way round the calculation is placed.

5 + 6 = 11

6 + 5 = 11 

Find the total is another expression for 
adding together.

For example, find the total of 6 and 7 
means 6 + 7. I have 13 altogether.

Sum also means the same as total. 

So, we can say the sum of 6 and 7 is 13.

When you increase a number, it means the number 
gets bigger. 

For example, I could choose the number 7 and increase 
it by 13. The answer would be 20, as I have added 13 to 
7.

Doubling is the same as adding the same 
number twice. Double 14 can also be 
written as 14 + 14. 

and                        are inverse operations. 

12 + 16 = 28 so the inverse is 28 - 12 = 16
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Add whole -
digits (column method)

The two calculations have the same answer.
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